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2. Each qiestion has four options. There is only one correct answer to each question. Choose: the appropriate

option and darken/blacken the corresponding circle on the Answer Sheet (OMR Sheet) with black point pen.
3. In this examination there are two question papers, consisting of 150 objective type questions and each question
carries 2 marks. Both the question papers and all the questions are compulsory. Two (2) marks shall be
awarded for each correct answer. Unanswered question will not be given any marks. There is no provisions
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Paper 1 General paper (Q. No. 1-50)
Paper 11 Question paper on the Subject opted by the examinee (Q. No. 51-160)
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Use of any type of calculatar, log table or any type of electronic devices etc. are not allowed.
Use only black ball point pen to mark the answers in the Answer Sheet (OMR Sheet) only after you are
instructed to open the Question Booklet.
10. Candidates will leave the Examination Hall enly after handing over the Answer Sheet (OMR Sheet) to the

Invigilator at.the end of the examination. ,
11. Before answering on Answer Sheet (OMR Sheet) ensure to follow the instructions given for that.
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51.

52.

53.

Approximately how many light years

away is our Sun along with its solar

system from the centre of Milky Way ?
(A) 30,000 light year

(B) 50,000 light year

(C) 20,000 light year

(D) 60,000 light year

Which of the following minerals mainly
form clay rocks ? |

(A) Calcite

(B) Argonite

(C) Kaolin

(D) Calcium Carbonate

On the basis of nature of agents in
metamorph'ism process which of the

following is not included ?
(A) Thermal metamorphism
(B) Dyna-mic metamorphism
(C) Hydro-metamorphism
(D) Contact metamorphism

P.T.O.
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54.

55.

Which of the following waves disappear
from the epicentre of earthquake at the

angular distance of 120° ?
(A) Primary

(B) Secondary

(C) Surface

(D) None of the above

The zone of th_e earth with a thickness of
2780 km, having an average density of

5.6 is known as :
(A) Lithosphere
(B) Barysphere
(C) Pyrosphere

'(D) Asthenosphere

56. The origin of the geomagnetic field is

related to which of the following internal

structures of the earth ?
(A) Mantle

(B) Outer core

(C) Inner core

(D) Crust
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57.

58.

59.

60.

Who first propounded the concept of

seafloor spreading from the following ?
(A) Wine and Mathew

(B) Doyal

(C) Cox

(D) Harry Hess

According to some climatologists

chemosphere is located in which layers
of the atmosphere ?

(A) Troposphere and Stratosphere
(B) Ionosphere and Stratosphere
(C) Ionosphere and' Mesosphere
(D) Stratosphere and Mesosphere

Which of the following is environmental

lapse rate 7

(A) 10°C per 1000 metres
(B) 6.5°C per 1000 metres
(©) 3.6°C per 1000 metres
(D) 2.7°C per 1000 metres

Which of the following is calléd as

radiation windows ?
(A) Greenhouse effect
(B) Valleys
(C) Mountatnis
(D) Clouds
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62.

63.

64.

65.

(C) Granulite

............... is often called the normal type
of the Cubic system.
(A) Axinite (B) Gypsum

(C) Galena (D) Corundum

Very elongate crystals (usualiy quartz)
resulting from cataclasis and intense

plastic deformation is called as :
(A) Ribbon
(C) Kink band

(B) Symplectite
(D) Mortar

Omphacite is a characteristic mineral of

which facies ?
(A) Greenschist (B) Blueschist

(D) Eclogite
A material that basically obeys the
viscous law but that behaves elastically

for stresses of short duration is termed
as:

(A) Elastoviscous (B) Viscoelastic
(C) Elastic (D) Rigid
Age of conodonts is............. .
(A) Cambrian to Triassic

(B) Proterozoic

(C) Jurassic to Eocene

(D) Cenozoic
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66.

67.

68.

69.

70.

The mouth of Echincidea fossil clas|s is

surrounded by a ring of calcareous plates
known/called as :

(A) Periproct
(C) Genital duct

(B) Peristome
(D) Apical disc -

Both textural maturity and compositional
maturity is found in which type of
sandstone ?

(A) Greywacke (B) Arkose

(C) Quartzarenite (D) Lithicarenite

The fundamental unit of Biostratigraphy
is :

(A) Inerval Biozone
(B) Stage

(C) Bed

(D) Biozone

ereiannsiesenes is a transition zone between the
continental margin and the deep-ocean

floor comprised of huge submerged pile
of debris. ‘

(A) Continental slope
(B) Continental shelf
(C) Continental rise

(D) Abyssal plain

Canary current is present in which
oceanic gyre ?

(A) North Pacific (Turtle) Gyre

(B) South Pacific (Heyerdahl) Gyre
(C) North Atlantic (Columbus) Gyre
(D) South Atléntic (Navigator) Gyre
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71.

72.

73.

74.

The precambrian-cambrian boundary
problem in India is studied on the basis
of :

(A) Trace fossils in Ladakh
(B) Trace fossils in Spiti Valley

(C) Areno-Argillaceous sequence in
Kashmir and Spiti Valley

(D) None of the above

How much area does the ‘Purana basins’

occupy in the Precambrian peninsular

India ?
(A) 30%
(C) 50%

(B) 25%
(D) 20%

............ is not associated with the Banded

Gneissic Complex (BGC)—Bu_ndelkhand
protocontinent.

(A)
(B)

Great boundary fault

Vindhayan basin and Indo-Gangetic
alluvium

©
D)

Deccan Traps volcanic rocks

Singhbhum Craton

The composition of Pyrolite is equivalent

. to:

(A) 80% Peridotite and 20% Eclogite
(B) 50% Peridotite and 50% Eclogite
(C) 20% Peridotite and 80% Eclogite
(D) 80% Peridotite and 20% Gabbro

#i
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75.

76.

77.

'(A). Semri group

i
1

t

Match the cratons with their associated'

basins :

(1) Bundelkhand (a) Jamda-Koira
(2) Singhbhum  (b) Chhattisgarh
(3) Dharwar (c) Bijawar

(4) Bastar (d) Bheema

(I ) B ) N O3
W@ @O © O
®© 0 @ O
©©@© @ @ o
D@ @ O ©

Kajrahat limestone is present in :
(B) Kaimur group

(C) Rewa group (D) Bhander group

The Quaternary sediments of Indo-

Gangetic plain consist of :

(A) Coarse to medium sandstone with
variegated claystone and associated
carbonaceous streaks

(B)

Alternate layers of sand and clay

with interbeds of calc-concretions

Reddish-Brown

limestone, quartz wacke and quartz

argillaceous

©

arenite

(D) Bundelkhand granite basement
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80.
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(C) Ur/Pb

(D) LwHf

(5)8/25/2024/A

78.

79.

80.

Which process is the main mechanism

for removing CO, from the atmosphere ?
(‘A) Dissolution

(B) Hydrolysis

(C) Hydration

(D) Carbonation

Asthenosphere lies below the lithosphere
at an average depth of 100 km extending
up to :

(A) 150-200 km

(B) 200-600 km

(C) 350-650 km

(D) 300-650 km

Which isotopic system is controlled by

initial PGE differentiation and is applied

. to mantle evolution and mafic melt

process 7
(A) Rb/Sr
(B) Re/Os
(C) Ur/Pb

(D) LwHf
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81. Mark the ore of Zinc in the following :

82.

83.

(D) Siderite

(A) Anglesite

~ (B) Willenite

(C) Pentlandite

(D) Cerussite

Which of the following

jiron-ores

contains least iron content (Fe%) ? |

(A) Goethite
(B) Hematite

(C) Magnetite

Which rock hosts primary
deposits ?

(A) Kimberlite

(B) Dunite or Peridotite
(C) Anorthosite

(D) Norite

platinum

P.T.O.
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84.

85.

86.

Which elements is used as pathfinder
element in Geochemical exploration

method for Gold (Au) search ?
(A) Lithium

(B) Chromium

< 'Plétin}lm and Uranium
(D) Arsenic and Silver

Mie

atmosphere by the suspended spherical
particles that are :

Scattering is caused in the

(A) Larger than the  wavelength
involved.

(B) Smaller than the wavelength
involved. .

(C) Size same as  wavelength
involved.

(D) Independent of the size of particle

and wavelength

All matter at temperature above........ emit

electromagnetic radiation continuously.
(A) -273.1°C

(B) 100° Kelvin

(C) -173.1°C

(D) 273.1°C

oL,
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87.

88.

89.

90.

Which of the following rock aggregates

is suitable for bituminous mixes as it is

_ hygroscopic in‘nature ?

(A) Granite

(B) Basalt

(C) Rhyolite
(D) Granodiorite

New water of magmatic or -cosmic
origin, which was previously not a part
of hydrosphere is called :

(A) Connate water
(B) Juvenile water
(C) Hygroscopic water
(D) Vadose water.

Which of the following satellites has
radiometric resolution of 25§ ?

" (A) IRS-1A

(B) LANDSAT-1, Multispectral Scanner
(C) SPOT-1
(D) IRS-P3

The amount of a particular element |
present in the parent rock not affected by
dispersion or migration is called as :

(A) Anomaly
(B) Threshold
(C) Background values

(D) None of the above
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91.

92.

93.

The science which studies inter-

relationships between abiotic and biotic

“component of the biospheric ecosystem

on the one-hand and among biotic

component on the other hand is called :
(A) Ecology

(B) Geology

(C) Photosynthesis

(D) Oceanology

The point on the Earth’s 'surface that lies
vertically above the origin of an

earthquake is called :
(A) Focus (B) Epicenter

(C) Hotspot (D) Wave base

When concentrated shells of rock are
removed from the outside of a boulder,

the process is known as :
(A) Leaching

(B) Disintegration

(C) Exfoliation

(D) Frost wedging
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94,

95.

96.

97.

In the soil proﬁie the deepest horizon

that constitutes parent material is known
as :

(A)' E horizon
(C) B horizon

(B) A horizon
(D) C horizon

The Coriolis force which has its effect on
every moving object on the earth is

caused due to :

(A) Gravitation of the earth

(B) Rotation of the earth

(C) Centripetal force of the earth
(D) Centrifugal force of the earth

The sleet is a form of precipitation that

includes :

(A) Fine drops of water

(B)l White grain of snow

(C) Mixture of rain and snow

(D) Mixture of rain and ice balls

A form of bar that connects one island

with another island is known as :
(A) Spit

(B) Isthumus

(C) Tombola

- (D) Gulf

P.T.O.
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100.

If a flowing stream, suddenly disappears
in the lower reaches then it is known

as :

(A) Blind valley
(B) River piracy
(C) Hanging valley

(D) Karst valley

That part of Himalaya which is
compo‘sed entirely of sedimentary rocks

of Tertiary age, is known as :
(A) Higher Himalaya
(B) Central Himalaya
(C) Lesser Himalaya

(D) Outer Himalaya

A crescent-shaped dune with horns

pointing downwinds are known as :
(A) Parabolic dune

(B) Barchan dune

(C) Star dune

(D) Transverse dune




101,

102,

frafafied 4 § $9 i (1z, =) @
g it 9 & e Fx) F1 feftase
FUEYH ¥ Wefidia 7Ef s gwd § ?

() fama aeq

®) fifre wen ¥ Afrm Wt

(C) 9=

(D) eFa wom § Afwmn w i

witse fogle w99 Wil W@
%2

(A) gp— gelgp = 5my —F
(B)-gp—ge/gp =75m/2—1'7

(C) gp— gelge = 5m/2 + F

(D) gv - gelgp = Smi2 + F

Wl gp W W WHHE Wfad, ge-dligm
rRifma Ifd, F-im WM i
Hfterm Rt 3feiae, m-smeatdd
HHTHRE T Hl ARG orhe
T W, S

(5)8/25/2024/A

15

101.

- ©

102.

Which one of the following is nor the

Dirichlet’s condition for a Fourier series
of thie function F(x) for interval (1, &) ?
(A)
B)

Single value

Finite number of maxima and
minima

Bounded

Infinite number of maxima and

(D)

minima

How can Clairaut’s theorem be

expressed ?

(A) gp — gelgp = 5my - F

‘(B) gp— gelgp=5m/2 —~F

(C) gp— gelge=5m/i2 +F

(D) gp — gelgp = Smi2 + F ‘

where gp is normal gravity at the pole,
ge-mean equatorial gravity, F-the pi)lar
flattening of | the optimum reference
ellipsoid, m-ratio of equatorial centrifu-
to the equatorial

gal acceleration

gravitational acceleration.

P.T.O.



103:

104,

105.

(h) B R =R W R WR e

[ k.

dre Wem 7 2

(A) T SwrT 7

B) Weaw I

(C) WieqyA e @

(D) sogw @i

fesflegsem o &= @1 fasdd

fremdt & Tl $A w, 4k o
fofors 3@ Swa @ T 4ms § ?

(A) 125 Hz
(B) 250 Hz
(C) 500 Hz

(D) 1000 Hz

IRyRa FRe (G), T (p), VR

WRA (Age) TW TR FW T ?
(A) Ag,, =2nGplh

®) Agyp=27Gp

(C) gy =2nGph

D) gy =21Gpt?

{5)5/25/2024/A
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103.

104.

105.

Which of the following is correct for a

Geophysical well posed problem ?
(A) Solution exists

(B) Solution is unique

(C) Solution is stable

(D) All of the above

If a real seismic trace is sampled at a rate
of 4 ms, what is the maximum available

frequency after digitization ?
(A) 125 Hz

(B) 250 Hz

(C) 500 Hz -

(D) 1000 Hz

What is the expression for the Bouguer
plate correction (Agm,) in terms of

gravitational constant (G), Density (p)
and thickness (%) of the plate ?

(A) Agy, =2nGp/h
(B) Agy =2nGp
(©) Agy =2nGph

(D) Agg =2nGph’



106.

107.

‘g’ e fEEeEE G ® ey
& fufemT a5t § = 2 2

(A) —0.78 € 2.60 Ma T

B) — 178 ¥ 3.57 Ma 75

(C) -2.60 ®3.57 Ma @&

(D) —3.57 ¥ 5.0 Ma o&

frefafes & 9 wF@  dewad
TR HfmR @ A e

%2

108.

(A) VxE=-3B/df

(B) VxH=J+08E/ot

€) v.B=0

D v-D=Q

ol J = w1 =

E = foga wies

B = #nifes wiee

H = fmifes wicg gofmmel
D=mﬂf&?ﬁ¥ﬁz

fea w2em ¥ YedinfRa w= IaEA
F aHa W afuw e § 2
(A) Uehall @R

(B) WTEE

(C) Uk

(D) didEs =uee

(5)8/25/2024/A
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107.

108,

What is the age range (in Ma) of the

‘Gauss’ normal geomagnetic polarity ?
(A) From - 0.78 to 2.60 Ma
(B) From — 1.78 to 3.57 Ma
(C) From — 2.60 to 3.57 Ma

" (D) From - 3.57 to 5.0 Ma

Which one of the following Maxwell’s
equation is a Mathematical expression of

Ampere’s law ?

(A) VxE=-0B/ot

(B) VxH=J+2E/ot

(C) v-B=0

(D) V.-D=Q

where J = Current density

E = Electric field

B = Magnetic field

H = Magnetic field intensity -

D = Displacement

Which rock type has highest ﬁmount of
Radioactive heat production ?

(A) Alkali Basalt

(B) Granite

(C) Peridotite

(D) Tholeiitic Basalt
P.T.O.



109. st forta sfoawise R sfadfad

110,

111.

(5)8/25/2024/A

%%W(a)qa‘ﬁmm(c)ﬁgam
¥ fepR o Hegq & w9F saA

¥ gl F AR W R T w2

@ a-r=89

)
©
D)

a-R=R-¢

a-R=2(R-c)

a-R=3(R-c)

dfgats e @ SR B foww A
e dfefad 4 e wiem ot
foufir ot foet @ 2

(A) 1-3%

®B) 3 - 7%

©) -15-20% :

(D) 75 - 80%.

AR oafil® wR ¥ @ TR T, I
frm W mﬁm fEar w1 @ & 2
(A) PKIKP  (B) PKIKP

(©) PcP (D) PKP

109. How is the Earth’s shape represented by

110.

111.

18 .

the international reference ellipsoid with
equatorial radius (@) and Polar radius {c),
compared to a sphere of Radius (R) of

equal volume ?

@ a-R=022
®)
©

(D)

a-R=R-¢
a—R=2(R—c)

a-R=3(R-c)

What percentage of the annually released
seismic energy is contributed by the
seismic activity in the system of oceanic.
ridge and rises ?

A) 1-3%

B) 3-7%.

(© 15-20%

(D) 75 — 80%

A seismic p-wave, that travels through
mantle, fluid core and inner core is
represented by :

(A) PKIKP (B) PKiKP

(C) PcP (D) PKP
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112, wrl e, Frfafen & ¥ B8 R | 112, poisson’s ratio can be defined as :
ofemim fFar w1 wwar & 2 ' !

(A) Lateral strain/Volumetric strain
(A) TIvd FE/TREe | .
T (B) Lateral strain/Longitudinal strain -
(B) WNd T/ o e ‘
© 3 T|W - (C) Longitudinal strain/Lateral straml
(D) mﬁq{;‘ -aqvq/qp—cf GG (D) Volumetric strain/Lateral strain

113. 9=t 1 iR ¥ W fR @ & : | 113. The rotation-of Earth is dependent on

(A) AT (FaA) B NN, 'Magni‘t_udc (only)

(B) f&n (Fa9) ' (B) : Direction (only) |

(©) e sk fem () _ (C) "Magnitude and Direction (both) :
(D) S .ﬁ q wE . (D) None of the above

114, gt €, i‘fl'ﬁ 'E%Tjﬁ w® g, s=1 8l | 114. The gravitational attractions of the Sun,

@ g&a}q JeRY & RO Frfeied Moon and Planets- on the spinning,
q qﬁaﬂq ETH L " ' flattened Earth causes change m : ’

: ) L - |
GVR S B (A) Rate of rotation |

B G Hw ’ . o (B) Rate of revolution |

(C) dferaor g &1 e S :
) ! (C) Orientation of revolution axis
O T H O AR gt d v ow | ' 1
b L (D) The size of Earth’s path around
g | " .
(515/25/2024/A 19, ~ PT.O.
|

1

" Sun
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116.

117.

118.

Tod T w AW wT ®

(A) ¥ H[ H g ¥ @Y egias

(B) o9 HW ® T W IeRAAITH

© o d o S wh §
aﬂmi%m

(D) 3 wE H W B THA H
AT

Ifs P W AR S-TT W W HE:
¢ fEiRmve @ik 4 feiRRTe B, @
W AT T B

(A) 0.3 (B) 0.1
(C) 0.2 (D) 0.4
9% ivew o W R ® gfg & go

¥ #¢ e afyw W 9 hea R,
S ®Ed T

(A) wearg fag

(B) wfeed fag

(€) fawer fag

(D) 3 fag
mmma—qaﬂ—{ ........... Hl TOF®A
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(A) WTE.

(B) fa
(D) e

(C) = =
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115.

The amplitude of surface wave is :
(A) Directly proportional tq the distance

from its source

(B) Inversel;

distance from its nurce

proportional- to the

(C) Directly proportional to the square

root of the distance from its source

" (D) Inversely proportional to the square

116.

117.

118.

root of the distance from its source

If velocity of P-wave and S-wave are
6 km/sec. and 4 km/sec. respectively,

then calculate the Poisson’s ratio :
(A) 0.3 - (B) 0.1 _

(©) 0.2 (D) 0.4

The stress at which a material extends
more rapidly compared to the increase in

load is termed as :
(A) Elastic point
(B) Plastic point
(C) Breaking point
(D) Yielding point

Acoustic impedance is defined as the
product of velocity and.............. .
(A) Density (B) Frequency

(C) Pressure (D) Wavelength

+

[ Aan
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120,

TR S, T € el elR sre- e
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(A) WA Wy AR wiriess

(B) M Wiy W stemi-stam

(C) TH Rywand Qfe TaT1-STer
Tiy |

(D) em-2en Wy iR R
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g 1 g 11
() foga fafa ()
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119.

120.

Suppose, there are two objects A and B

made up of same material and different

sizes, then they will have :
(A) Same resistance and resistivity

(B) Same resistance but different

resistivity
(C) Same resistivity but different

resistance

(D) Different resistance and . resistivity

Match Group I with Group II :

Group I ‘Group II

(1) Electrical (p) Velocity

. method

(2) Magnetic (@) Resistivity
method

(3) Seismic (r) Density
method

(4) Gravity (s) Susceptibility
method ' "

Codes :

O @ 3) )
A @ @ (s) @
B @ 6. O (r)
© @ 6 () ()
® @ O (s) (1)

P.T.O.



121.

122.

123.

fagor squm (w) = fafire swE (g)
¥ 49 gafug fem w1 @ § ?

(A) w=q/(1+q)
®) w=q/(1-q)
©€) w=(1+q)/q

Oy w=(1-q)/q -

frafafeg ¥ ¥ agAvSa ® HAE W
Heum W weRfe @/ oS ¢ ?

(A) TG
(B) eTgarH
(C) wg= fHsm sgum YEr

(D) = 9y S=HHH

freafafos & ¥ FHW TE aTHEEH

SEA W qiet FEER T B 91 W

ARG TRl 1 Wel AFANS S iH

& 22 _

(A) ‘wa Hae

(B) difs RN §RI Seemad

(C) JRENfFw ael & HW SR

(D) S<U-391d WOUGH % WY UH Wil
g7 § a9 & 99 Swm

{5)8/25/2024/A
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121.

122.

123.

How the may mixing ratio {w) be related
with specific humidity (g) ?

(A) w=g/(1+q)

®B) w=q/(1-q)

) w= (1 + q) /q

D) w=(1-q)/q

Which one of the following properties of

the atmosphere is not represented on a
Tephigram ?

(A) Isobars

(B) Isotherms

(C) Saturation mixing ratio lines

(D) Dry air mass

Which one of the following is nof a
correct -'genetic grouping of the cloud
based on the mechanism of vertical

motion that produces condensation ?
(A) Thermal convection

(B) Uplift by mechanical turbulence
(C) Ascent over an orographic barrier

(D) Rapid uplift of an air over a narrow
area in association with a high

pressure system

ew)
A

Py,

h =i
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ye 3 PR e @ IR ek @R

1 UF fH9 YER =Had g <

g2

(A) Hig T ® W SR A B
Wﬁwémﬁ

‘@) wta T ek mw B TR B

THEA & ®7 F
(C) =riim 7fd & F W AR ey B
U B PASA B ®Y F

(D) ®ivig 1fy ® T ik Ew B

G R

frefafen § € S faee 9ed 3=

T ¥ sff @ ¢ fF @ g

qgAved ¥ <9 %Y g € ?

(A) Wrifes va @ oy Wa
L

B) vrifed SO & WF ! F TS

R W ¥R S e

© rifern S B W ol B T
¥ e w Y AR e e
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124.

How is the component of the earth’s

vorticity about it axis of rotation

expressed ?

(A) Twice the angular velocity times the
" cosine of the laﬁﬁde

(B) The angular velocity times the sine
of the latitude

- (€) Twice the angular velocity times the

125.

sine of the latitude

(D) Twice the angular velocity divided
by the sine of the latitude

Which one of the following best
describes how the pressure décreases in

an isothermal atmosphere ?

(A) Linearly with geopotential height

(B) Exponentially with geopotential
height by a factor of e! per scale
height

(C) Exponentially with geopotential
height by a factor of e~! per sclale
height .

(D) Logarithmically with ge:opotential
height by a factor of e~ per sgafe
height

P.T.O.



126. Ffdaa vae w1 Frefafen « =
W & ®9 o <wian S whd ¢ e
(A)aﬁﬁq\ﬁvﬁaaﬁzaﬁ%ﬁaw
'(B)mmaﬁaﬂxmw
(C) +fEfE aa iR q& yaerl <«
(D)mwmaaﬁtmw

127. U0 Tiend § OwARE Wal® B Wehdl
T
(A) Daa THANE
(B) ®aw WA-wwand
(C) =aa W
(D) WA ¥R Wa-wwar S

128, frafefiad § 4 SF@ T SAGEEO oR
(a,) ¥R W&V oTE (S,) ® W H
YEAE [ (T TTR)
(K,) 3¢ @& wWay § 2

(A) K,=a, +S8,
®) K,=a,-8,
© K,=a,.8,
@) K,=4,/8,
(5)S/25/2024/A

126.

127,

128,

Inertial flow is characterized as a balance

between :
(A) Coriolis force and centrifugal force

(B) Pressure gradient force and

centrifugal force

(C) Coriolis force and pressure gradient

force

(D) Pressure gradient force and

gravitational force

The cyclostrophic flow in thé Northern

Hemisphere may be :
{A) Cyclonic only

(B) Anti-cyclonic only
(C) Linear only

(D) Cyclonic and anti-cyclonic both

Which o"ge of the following is the correct

relation for the extinction coefficient

" (K,) in the terms of an absorption

coefficient (a,) and a scattering
coefficient (S,) ?

(&) K, =a,+8,
B) Ky =a,-8,
€) K,=a,.S,
D) K, =a,/8,
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i29.ai€faﬂ1m§v@mm%afm-

7 e § 2
(A) TR g 310-350 nm, BRI Svg@
©200-310 nm

(B) et Yugy 200-310 nm, &FFE gy
310-350 nm

(C) Rl AUy 350-400 nm, BFFT Sve@
200310 nm

(D) sed dvew 200-256 nm, &g
UEH 250-350 nm

130. aAvEehE T W I et ¥
(A) w0 e TR ok @ srgfml
@ W
®) R i Wit ok 3= SR
% Y |
(€) w2 &fas weed ok w9 agfmEr
& ™
?m"‘mq
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129. In which wavelength ranges do the

.Hartley and Huggins bands occur ?

(A) Hartley band 310-350 nm, Huggins
bands 200-310 nm

(B) Hartley band 200-310 nm, Huggins
bands 310-350 nm

(C) Hartley band 350-400 nm, Huggins
bands 200-310 nm |

D) Hartley band 200-250 nm, Huggins

bands 250-350 nm

130. The atmospheric Rossby waves occur on :

(A) Lov;f horizontal wavel?ﬁgths and
with low frequencies

(B) Large horizontal wavelengths and
with high frequencies

(C) Large horizontal wavelengths and
with low frequencies

(D} Low horizontal wavelengths and
with high frequencies

P.T.O.
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131, TF 9 AEASE § TqW AR 131. For a typical aﬁnosphere, the relationship
between saturated vapour pressure and

TR & 69 day e 2

© - temperature is :

(A) @ (B) ©EH (A) Linear -  (B) Exponential
© wEefiw (D) fawda (C) Pabolic (D) Inverse
132. W W 39 | sk &t 132. Moist adi‘abatic lapse rate depénds on :
(A) ®ae THA T (A)' Temperature only .
(B) Fa9 TEE W (B) Pressure only
(C) 9UAF Td§ 98 W (C) Temperature and pressure
©) T T | " (D) Winds

133, W@ <&@ 9ot (LWC) # wRwiftq R | 133. The Liquid Water Content .(LWC) is

516 B defined as :

(A) 99 & wia 'a'ﬁ'sz‘ Ea W ® (A) Total number of water droplets per
95 B 7@ G TN unit volume ofail:

(B) 9g % ug THE &rw ¥ 9 (B) Total number of water droplets per ’
F 43 W HA TS N _ unit area of air

(C) w1 HT Wia wHt JWE W 4 H (C) Total number of water droplets per
R @ g dEw gw unit cm of height in air

. (D) ST wt (D) All of the above
(515/25/2024/A | . 26
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134, Nrlifr rferan, frifes =X (R)
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(A) 3= amr’sr.qt

(B) A& IWW W

(C) A @ W
1
(D)Wm

- 135, We (@) iy @iF o ¥

O free gwea d
() 6 % wa
(m)mﬂmmsaﬁ
@A) F5a @

B) FF ([0 AR (1)
(C) Faw in_) sk (m)
® @@ sk an

136, 3R C v R W 3, & w@H ¥ o

ta & wa d afg ¥, o Prfafer
# § Fie-weRa-adt (CFL) Rer #ee

7 fau ﬁﬂm = e ?

ot st
A) C——sll @ Cg
(C) sl @ Ca>
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134. The baroclinic instability is a primary

mechanism of synoptic-scale wave
development in :

(A) High latitudes

- (B) Mid latitudes

135,

136.

{C) Equator

(D) Poles

Fronts are more intense in :
(I) Lower troposphere

(II) Near tropopausé

() Upper stratosphere

&) @ only |

(B) (D and (D) only _ |

(©) (@ and @) only

(D) (D, () and (IID)

1
!

IfCis wind.speed, dx is space iﬁcremént
and &t is time stop, then which of the

following is correct for - COllI'a.ljlt-
Friedrichs-Levy - (CFL) 'stabiliity
criterion ? ' S
ot St
C—=x<1 C—21
&) Cy ® Cy2l
‘2 O " 5 .
ct—<1 ct—=>1
© Cx @ C

P.T.0.

W
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138,

139,

mﬂaﬁﬁwﬁmﬁmﬁ@a

H R e o T d 2

Q) 99 v | | T

() T AR o L H/ B

(nnaﬁumﬁgimﬁﬁmﬁq
ﬁaéw#afmwm

() #59 (D

(B) Hada (II)

(C) =aa (II)

O O, @ 3R (1)

Taag AqHuE & far wwfia ween

IWE 9 g9 W wafug feemn T oenm

(A) 1970 (B) 1975

(C) 1980 (D) 1984

@ &99 || (RVR) &1 T < Sl
F, W g @ W ¥ o

(A) 1500 H1X | *HA

(B) 2500 WX ¥ HH

© 2000 WX ¥ FH

(D) 4500 WX ® HH

(5)5/25/2024/A
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137.

138.

139,

(©) 1980

Which of the following is/are necessary
condition(s) for the occurrence of deep

convection ?
(I) Substantial boundary-layer moisture
conditionally

(II) Existence of a

unstable lapse rate

(IIT) Low level convergence sufficient to

. release the instability
(A) () only

(B) (I) only
(C) (III) only

D) D, D) and (IIT)

The first satellite dedicated to the climate

research was launched in the year ;
(A) 1970 (B) 1975

(D) 1984

Runway Visual Range (RVR) is reported,
when visibility is less than :

(A) 1500 meter

(B) 2500 meter

(C) 2000 meter

(D) 4500 meter
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141.

142.
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(A) Y= WX 9§
(B) & ®WwR ¥
(C) HIen WR ¥

(D) S w+ft
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S Bl iEa wE ofus @ ¥ 2

(A) STEEE

(B) wHifeE™

(C) foiw

(D) e

frfafen ® 4w uw e @
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(A) wisa o

®) Wt w

(C)ﬂ"lw:w

(D) et sefemrR wm
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140. The

141.

142,

|
|
|

Western Disturbances (WDs)

originate over the :
(Aj Mediterranean sea
(B) Caspian sea

(C) Black sea

(D) All of the above

Which of the following trace elements
has th€ maximum concentration in the

sea water ?

(A) Iodine

(B) Molybdenum
(C) Zinc

(D) Iron

Which of the following currents flows

equatorward ‘7

(A) Leeuwin current

(B) Somali current

(C) Benguela current

(D) East Australian current

P.T.0.
{
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amqﬁwmm?z‘lm%v

(A) SwEdifeh WEMFR H

(B) WId WerrR H

(C) feg wemrR

(D) <Pt WEMPR H

TR ¥ T et e @R
e § ? |
(A)ﬁﬁeﬂmaa.

®) & &

© 3 (A) 3R B)

(D) waum # ufterda

WREFR 9 @9 ¥ fa T 3

¥ frus ot 9 9<aE F GRd
®7?

(A) THIHH

(B) =T

(C) =

(D) 9§z W
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143.

144,

145.

Walker circulation takes place in :
(A) Atlantic Ocean

(B) Pacific Ocean

(C) Indian Ocean

(D) Southern Ocean

Ekman transport occurs in the ocean

due to :

(A) Coriolis force

(B) Strong winds

(C) Both (A) and (B)

(D) Change in salinity

Pycnocline in the ocean water column
indicate a rapid change in :

(A) Temperature

(B) Salinity

(C) Density

(D) Sea level
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mmﬁw—mmﬁam
T T o= g R € owd Q@

TS B o Fram @Rg Wl
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A) Na>CI:J.5Ag>Li

(B) Ca>Na>Ag>Li

(C) Ca> Alg > Li> Na

|
(D) Na>Li> Ca> Ag
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Ocean water contains various elements
. i

with different average residence times.

* Which among these represents the

147.
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correct order of decreasing average
residence time ? |
(A) Na > Ca>Ag > Li .
B) Ca>Na>Ag>Li.'

(C) Ca>Ag>Li>Na

(D) Na>Li>Ca>Ag

Different ions are dissolved in the sea

b

water. Which of the following djssolve%d

i

ions has a maximum concéntration in sea

water ?
(4) Chloride (CI) _ i
(8 Calcium (Ca%*)
(C) "Potassium (K

(D) Sodium (Na%)

P.T.O.
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(A) Fe (B) Au .

(C) Hg (D) Pb

32

148.

149.

150.

- (A)

Siliceous coze is very common in the

ocean floor below 4000 metres depth

because :

Silica production is higher than

carbonate
Carbonate dissolves with depth,

(B)

while silica does not

(C) Carbonate are consumed or used by
organisms

(D) Siliceous ooze are derived from the
oceanic crust

The high surface salinity in the

subtropical ocean is due to :

(A) High evaporation and. . low
precipitation

(B) Low evaporation and low
precipitation

(C) Supply of high salinity water from

the equatorial region
(D) Supply of high salinity water from

the polar region

Lack of which of the following metals
can restrict the growth of marine life ?
(A) Fe (B) Au

(©) BHg (D) Pb
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